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1. A society can produce two goods: green tea nd vitamin water. As is society moves
down its produ on possibUity frontier, producing more and more units of vitamin water,
the opportunity cost of producing vitamin water increases. The society's production
possibilities frontier will be

A) positively sloped and bowed outward.

B) positively sloped and bowed inw rd.

C) negatively sloped and bowed inward.

D) negatively sloped and bowed outward.

2. The pharmaceutical industry depends on highly t ined workers, who are abundantly
available in India. The automobile industry depends on the availability of a large stock of
physical capital with which e United States is well endowed. According to
Heckscher-Ohlin theorem

A) India should export automobiles.

B) the United States should export pharmaceuticals.

C) the United States should import automobiles.

D) India should import automobiles.

3. S pose atGreece and Portugal are boUi engaged in the production of grapes and figs,
and that Greece has an abs lute advantage in the production of both goods. If Portugal
has a lower opportunity cost for producing figs, then

A) Portugal has a comparative advantage in e production of figs, but it is outweighed by

Portugal's absolute advantage in fig production.

B) Greece has a comparative advantage in the production of both goods.

C) Portugal has a compar'ative advantage in fig production, but Uiere will be no gains from

specialization and trade.

D) Portugal has a comparative advantage in the production of figs, and specialization and

trade between e two countries can be m ually bene cial.
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4. A Gini coefficient of one means that
A) income is distributed equally.
(all e income is received by e top 20 / of famUies.
C) e income is spHt equally between e top 20/i and the rest of e distribution.

D) one family has all the income and everyone else has nothing.

5.  Addistribution of goods between person A and person B is efficient if
A) it is possible to make both person A and person B better off.
pe on A can be made better off only if peRonBisalsomadebetteroff.
C) any change in the distribution would make both person A and person  worse off.

D) pe on A can be made bettero only if pe on Bis made wo e off.

6. Market signals are

A) an actions taken by buyers and sellers to communicate quality in the presence of perfect
information.

B) only strong if obtaining e signal is more costly for individuals w hvalued traits an
for those with non-valued traits.

C) used to differentiate those who will drive equally carefully whether or not they have
auto insurance from those who drive less carefully when they have insurance.

D) used to distinguish between high and low quality and help correct the adverse selection

problem.

7. The idea that we cannot devise a voting scheme that respects individual preferences and
gives consistent, non-arbitrary results is known as

A) e independence of irrelevant alternatives.

B) logrolling.

C) e impossibility eoi'em.

D) the Tiebout hypothesis.
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8. There are 10 families in a neighborhood that are affected by noise pollution from a local

factory. The noise could be reduced if the company spent $5,000 on technological

improvements. The company agrees to make these improvements if the affected families

contribute e $5,000. Since ere are no legal restrictions governing e factory's noise

the negotiations fail. This outcome is an example of the
A) free rider problem.
B) drop-in-the-bucket problem.
C) problem that arises when property rights are not defined.

D) Coase theorem.

You love Christmas and elaborately decorate your home and yard. It is such a spectacle

that hundreds of people drive by your house each day to enjoy the display. The noise and

traffic disturb your neighbors who sue you and
display permanently. This is an example of
A) the Coase theorem.
a liability rule.
C) an injunction.

D) the free-rider problem.

10. The demand facing a monopolistically competitive firm is
and a perfectly competitive firm.

A) as elastic as; less elastic an

B) less elastic than; more elastic than

C) more elastic than less elastic than

D) more elastic a as elastic as

required to take down your

monopolistic firm

11. An oligopoly with a dominant price leader will produce a level of output

A) equal to what a monopolist would choose in the same industry.

B) between that which would prevail under competition and that which a monopolistic

competitor would choose in the same industry.

C) between that which would prevail under competition and that which a monopolist

would choose in the same industry.

ID) atwould prevail under competition.
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12. If a restaurant runs a special and sells a lobster dinner for $5.00, Amy buys one lobster
dinner a week. If lobster dinners are not on special and the price is $10.00, Amy buys
zero lobster dinners per week. Which of the following is TRUE?

A) Amy's demand for lobster is inelastic.

Amy's utility from a lobster dinner is tess $5.00.
C) The value of Amy's ility from a lobster dinner isat least $ 00 and less an $10.00.

D) Amy's u ity from a lobster dinnerisg ater an $10.00.
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